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CG-11-2020
WINTER EXAM 2020
Subject Name : NA-342_Indian Economy-II-GE-II-1_VI_19-03-2021

Duration : 60 min. |

Instruction / ﬁ?.l?n/ -

* Follow the detail instructions given on OMR Sheet
* 3 T 3R Gl §S G Treled .

Q.1
Which of the following is true

Grellerdehr HoTd fauTe Jea e
Alindian economy is Agrarian economy [HRIT
e g FNUTT 3riedasar 31g]
Blindian economy is developing economy [HIRATT

3regaTT &1 fana=Iirer deaaear 3]

Q.2
What are the objectives of economic planning in India?

RATATST 3 A= 3w AT 3mea 2
AlEconomic objectives [3Te 3Rse]
BlSocial objectives [amTfom 3fese]

Q.3
What was the duration of the " First five year plan "

gfgear daarises TSI SHIeE@s HIvTar ear ?
Al1950- 1955 [2’g0- 2R4Y]
Bl1950- 1956 [230- 2_4E]

Q.4

ClThe Private and Public sector coexist in the Indian economy [HIATT
VI WIS T Adolfaidh 19T TE3EciIed 3R]
DlAll of the above [afrertidhr &d]

Clpolitical objectives [IToifar 3fse]
DlAll of the above [arerdedr &4

Cl1951- 1956 [2R42- 2]4E]
Dl1951- 1955 [2R42- 2_4y]

Which of the following is the achivement of economic planning in India?

TTeiTerdeT 3 fastaTdr 3ucredT FHoTcr
AlEconomic growth rate [3R& gerex]
B]Development of Infrastructure [ATATHT liiﬁiﬂ?.lT

o)

Q.5

Climproving living standard [STa=TATATT FERo]
DlAll of the above [afrerdh wid]

Which of the following was emphasized in " Pandit Nehru's " planning Model

TEIT 5% TT [FANSTeT TTHUTHEY Wreltel Uehl ey #1301 3TelT

A]Development of Heavy and Infrastructure Industry

EEEEEE; CEC LRI RINCEL)!
B]Development of Rural Industries [ITHIOT 38191

faepra]

Q.6

PURA ' Gandhian approach to development means .....

T aTEfaTeY TSI ' PURA ' #760TST ...
AlUrban amenities in rural area [?Eﬂﬁﬁtﬂ JTHTOT
HIITT R0
BlRural Policy [3mefor &XoT]

Q7

C]Development of small and cottage industries [FI'E;HWO EARICIRCED S]]
Dlpevelopment of Agriculture industries CRUEEEICINECI]

Clurban Policy [2rgdr eRoT
DlNational Policy [RTs&r=r &iRoT]
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What was the duration of Fourth Five year plan
DT gerardier AT SHRIATe HITAl
Al1966- 1971 [23&&- 2R0¢]
Bl1969- 1974 [2R€81- 2]0Y]

Q.8
Which amenities are provided through ' PURA ' Model

R ASATHR HI0TAT FIAUT AT STl
Alphysical amenities [silchier giaem)
BlTechnological amenities GIEIEESIELY|

Q.9
Who announced Industrial policy, 1956

?_yE I 3NEANTITeh LNROT o7 SR Sl
Alpr. Shamprasad Mukharji [2F. emasraTE @]
Blpr. ¢ Rangrajan [&. €. TR

Q.10

In the Industrial Policy 1956, Industries classified into .....
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Cl1965- 1970 [2R€4- ¢-10]
Dl1966- 1970 [2RE&E- 2]00]

ClEconomical amenities [3nfes gfaem]
DlAll of the above [T &4

CIT. T. Krushnmachari &Y. &Y. FSUTATIRI]
Dlpr. Pranab Mukharji [5F. goter #7esfi]

Types

2Ryt =T 3 RO 32T FeffeioT ... ThRId F0ATd 37Tt

AlTwo [ar]
BlThree [

QN
When announced Industrial Policy, 1977

2R0 T eI UIRUT hegl SRR HIUATA 3Ter
Al28481 [32 3. 2_00]
Bl2g4s2 [23 2. t]u]

Q.12
What are the objectives of Industrial policy 1977

2l T 3fteitefier YU 3wy SHroreh
AlTo promote small and cottage industry [ﬁg&fﬁ?
3RNATTEAT SicaTge 201]
BlTo develop to public sector [ATdifeia &r3rar e
FOY]

Q.13
Industrial Policy 1980 announced on .....

e aRoT 9R¢o ... A ARR dhel
Al29425 [33 S 23¢o]
B129432 [30 et $:¢o]

Q.14
..... Year is declared as a year of reformation

..... ay & URUTY a¥ FguTel aIvd shel
A]1991 [1991]
B11990 [1990]

Q.15
New Industrial Policy 1991 announced by .....

?_R¢ =T g YRUT= SYoT ... Jielt el
Alp, v. Narsinharao [dY. =&Y, sRT&eE]

Clrour [@X]
DlFive [ara

Cl28480 [2¢ 2. ¢:u]
Dl2gas4 [:4 2. 2:ub]

ClMaximise the natural resources [+ reraraTHAET ST STEd 39T

0]
DlAll of the above [T &4

Cl29395 [23 ST $¢o]
Dl29341 [30 THfrer 93¢0]

C]1993 [1993]
D]1995 [1995]

Clatal Bihari vajpai [3/¢e STaRY aTerai]
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Blpr. Manmohan Singh [5F. #=#est dter] Dlp. chidambram [dY. Rgaeaa]

Q.16
Industrial Policy 1991 announced on .....

?_R¢ T i URoT ... ASH AR STl

Al33442 [33 S £28¢] C133444 [ 3e¥ 2224]
Bl33443 [y Te¥ 9229 DI33440 [R¢ Tef 9229
Q.17

What is an Industrial enterprise run by the Government

ST 3N IUHATY HTeleT ATHAGIR FUATA Ak AT ... FFUTATA

AlGovernment undertaking [QITEEHTI 3Usha] Clprivate undertaking [ETST3f 39sha]
Blpublic undertaking [ETd<ifer® 39%#] DINone of the above [ITder AT
Q.18

In which " Five year plan " preference given to Industrilisation.

FIvTcAT Gaardie AreTaqed A AHIoTeT 3R SuaTd 31Ter.

AlFirst Five year plan [af&elT daarsie i ] ClThird Five year plan [fa€r daamdfa drsr]
Blsecond Five year plan [gEr deraries Areta) DlFourth Five year plan [t deramdfe drere]
Q.19

Public sector undertakings include the following industries

FTdolioieh &YFTTel YT Wielol 3EAAT FHAL giar.

AlAtomic energy [3707311] Claircraft construction [f#Te arerof]
BlDefense weapons [ER&T0TRIe gcar] DlAll of the above [T &4
Q.20

Since when was the disinvestment policy adopted in India

HRAT T Taureh eROTTT FEGehR ShegTIIel HIuATc el

Al1991 [1991] C]1992 [1992]
B]1990 [1990] D]1993 [1993]
Q.21

When the industries were classified as strategic and non- strategic as per the disinvestment objectives

TR cTauTeh 3LMIATON SEAeT URUTIcH F IREROTTcHS 31 FlTehuT hegl FudTeT 3ol

Al36235 [2& AT 228Y] C133443 29 Se¥ 2224
Bl36249 [30 AT 928%] DI33442 [R3 5Tef 9219
Q.22

Which of the following industries are included in strategic industries

RS ITARMHATY WrelleTeh! HIUTAT ITIRAT FHATAL gl

Al Atomic energy 3707351 Clrailway X3 aTEIh]
Bl Aircraft [fa#met arerof) DlAll of the above [afreridhr &4
Q.23

How much of the disinvestment limit was set in non- strategic industries.

IR- RS SeAraed fdidaurEr Fafer Hih g

A]0.75[0.75] C]0.49[0.49]
B]0.5[0.5] DI1[1]
Q.24

..... Means transforming a closed economy into an open economy
e Jiegadd Yol HIeTaEAd TR 0T 7G0T ... B
Al Cl
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Liberalisation [3GRTe<0T] Globalisation [STRTfARIRITT]
Blprivatisation [@Tstefiaor] DlNone of the above [T ATET]

Q.25
Which committee was appointed to decide the Industrial Licensing policy.

e ToTen ST YIROT gee R HUATHTIST HIoTcl FIAH Al

AlAbid Husen committee [Hﬁagﬂﬂm Clg. P. Ramkrushna committee [3. dY. THESOT FIAA
BlDatta committee [gea @fA DlNone of the above [amieT T8
Q.26

When was the ' National Investment Fund ' established.

Al38353 [¢ AT 2004 Cl38472 [30 THIeT 2004
Bl38382 [30 S=ERY 004 Dl38443 [3 Tsirer 004]
Q.27

When was the W. T. O. established
W. T. O. = TATIAT hegl STell

A]1994 [1994] C11991 [1991]
B11995 [1995] D]1992 [1992]
Q.28

..... Means to link a contry's economy to the global economy.

THEEAT ST IACTTEAT ST e HIHROMRT Heldel 0T FgUT ... 1

AlLiberalisation [3gRI&T] ClGlobalisation [STeTfadhaRoT]
Blprivatisation [@Tstefiaor] DlNone of the above [a3rertidhT =ATEY
Q.29
Who was the chairman of the disinvestment commission.
fRafcraroreh 3T 3reget 10T gl
Alc. Rangrajan [€. BRI Clp. Chiddambram [d. RéFaw#]
Blp. V. Narsinhrao [dF. =&, sRT¥&E] DlNone of the above [arertidT =g
Q.30

Which of the following is the Achivement of Economic planning

Grefterdhr 3 et 3uerst SIvTdT 3me
AlEconomic Growth rate [37& FedT x| Clstandard of living [Sgof#ToTa GUROM]
Blinfrastructer development RIRIECKERIEINECIR | DlAll of the above [T &4

Q.31
What is the role of public sector in Indian economy

HRART 3eTaeAd HIdaTfordh aTATdT SR H1T 31M8

AlShare in employment [SISTeTRTdTe aTeT] Clsaving and capital formation [F/ard @ Hiizae feitdia amer]
BlsShare in G. D. P. [dae TSERT 3cqe=ATdTel aTeT] DlAll of the above [arerdedr &4
Q.32

What is the rational of Disinvestment?
TR cTarurehrer e FguTeT 1Y ?
C]Decrease the supremacy of public sector and increase the supremacy of

Alsupremacy of public sector [ATerHfeteh &Te! ] private sector [ATdsTfed &FTY 9Fd F3T X T Wi 83719 II9Eq aread]
B] ' ing [3Yes foraTstaTaT 31377a] .
Lack of economic planning [ 3 Dlpecrease the foreign investment [REART I[AAUTR AT Fc]

Q.33
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Private and public sectors co- existence means

@reett @ AT 8T Tg3rdlcd FguTeat
AlCapitalism economy [HiSae2eY 3reearaeen) Clsocialism economy [FHATSATEY 3reearaeen)
BlMixed economy [f&#r srefeaaea] Dlpeveloped economy [ 3refegaean

Q.34
Which of the following main objective of planning in India?

RS fAasiaT 7Ey 3fse Siord ?
AlQuick economic development [sTeig; 3% fa@ra]  Clindustrial implementation i CRUEETIBIR ECEE E]
BlCapitalism of planning [sTTsaems i) DlRural development [amsoT i)

Q.35
What was the duration of the second Five year plan

Al1956- 1960 [2R4&- 9RE 0] Cl1956- 1962 [24%- 2R&3]
Bl1956- 1961 [2346- 2R&2] Dl1955- 1960 [2344- ¢%&0]

Q.36
What are the shortcomings of the public sector in India?

HRATATST ATdSTeleh &TFTciTel 3T0TaT ShiuTedT ?
AlBurden of capital investment BIEECKIRELCICIRIIN! Clshort use of capital [$TgaeraT 3T ATR]
Blinefficient management [3/TaTe saaETI+] DlAll of the above [T &4

Q.37
Impact of globalisation on Indian economy .....

SRR ToT=T AR 37eaaTdary aRomH

Alpositive impact [FRTcHE THTE] ClBoth A and B [T 37 37foT 7]
BlNegative impact [TrRTcsa F87Td] DlNone of the above [afrerteT 8]
Q.38

Which of the following industry has an important place in bringing about industrial development in the country?

SRITT 3t AITeh TahI TS UTATHIS! TTelleliehT SHIUTeT SEAIINTC HgeaT TUTT 3Te.

Alship Building [sTgreT arerofy] Cliron and Steel [@g 31foT dree]
Blyute industry [¢g< 3?35!1?1] I:)]Sugar industry [‘H‘I’@?BH:&’I?H
Q.39

The objectives of Industrial Policy, 1956 was .....
2Ry, =T g uRom 3fse ... g
AlMixed and controlled economy [ 3foT frifya

Clcapitalist economy [$TiSTeTTeT 37127e
e p y [ e

DlMixed economy [fAfara srefeaaean
Blsocialistic pattern of society [HHTSIATET HATSR TSI
Q.40
What are the objectives of privatization?
Grerefia o 3fesed Ty ?
Alawards of free trade policy [HeFd ST IoTT
JaR] Clincrease the National income [XTSERT 3ce=Tdl aTE &0T]

BlDevelopment of capital market [#iEael SToTRT™ DIAll of the above [a€rertdr &d]

faepra]
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